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[bookmark: _GoBack]6th Unit 2: Ratios & Proportional Relationships Performance Task
Dana and Monique are dog groomers.  Dana’s workday is 10 hours and Monique’s workday is 8 hours.  Dana and Monique each work 40 hours per week.  
Part A:
On Monday, Dana groomed 15 dogs in 10 hours and Monique groomed 10 dogs in 8 hours.  They each earn $12.75 for each dog groomed.  Assuming that for the rest of the week Dana and Monique groom the same number of dogs per workday as they did on Monday, what will be the difference between their weekly earnings?
Show your work:










Answer:____________________________________
Part B: 
How many more 8-hour shifts would Monique need to add to her work week in order to earn an equal amount of money in one week as Dana?
Show your work:









Answer:____________________________________

Justify your answer in complete sentences, using your math vocabulary:

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

________________________________________________________________________________

